
Meets: Common Core Standard Operations - OA.4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Subtraction and Unknown Addends 

Oliver has 7 kgs. of grapes. His fruit basket has a capacity of 12 kgs.  

How many kgs of grapes are needed to fill the basket? 

 Subtract the kg of grapes in the fruit basket (7) from the capacity 
of the basket (12). If we add the grapes in the basket with this 
quantity,We will get the same answer. 

 7 Kgs + __ Kgs = 12Kgs 
 (12Kgs – 7 Kgs = 5 Kgs) 
 5 Kgs + 7 Kgs = 12Kgs 
 The Answer is 12 kg Grapes. 
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